HF76E FRAMEEEFRD 1= 7TELRBMKEFERR

202349A23A8 (L) - 248 (B)

BFRE-KE (Ka— K : 23281009) A LB EEES (BEEa— F : 282060)
Bt 8 e 14 2t a3t 4t 5t 6t 7 8t
" Toom 15 BB BH Q) 10.86 [WE =Zx (2 1090 (A3 &= ) 1095 1INk BE (2 11 [EHEAE 2 14 [BF Fm 0 129 E% & © T30 |58 58 O 11.39
AR 0.3 |EiFk 0.3 |k 0.3 |REE 0.3 |NERE 0.3 |l -0.3 | 0.3 |REE -0.3
2g 200m 17 [AEE—E @ 2234 [tk BE ) 245 |FE KB @ 2258 |%E 1§ 273 [IAF = 22.82 [ARESES (1) 23.05 [EHEAL (2) 2309 [FO —# (1) 23.17
EE 0.4 |REE 0.4 |HEE 0.4 |EEk 0.4 |MEH 0.4 |BEA 0.4 A “0.4 |EESE +0.4
% 400m N 49.52 |REE—E 49.92 |[EE—EE (2) 50.51 [RREEE (1) 5121 [l BE 51.32 Kk EM 59.90
k <51 EE RS BPF EHERE REFR
2E 800m o [BIB BE () 2:0016 |RE B2 (9  2:02.74 |hME ®E ()  2:04.20 [@F Bt (2  2:04.94 [HO BA (9  2:06.22 |l @A () 2:08.40 K& XE (2  2:00.03 %@ @& (1)  2:00.06
RFR B E E22 1] EE4E FAE BeRF HER <21
% 1500m or [BIB EE () 4:06.82 [l B (9 41110 LR KB ) 41134 [@F Bt 2 41749 [FW KR (2 41757 [fIIHZE ) 4:19.59 REL—E (2 42003 Kt BB @ 42101
RAFF E:] EEL EESE E] EEH B RiFR
248 5000m 16 |LR AE @) 155098 [F K& (@ 16:01.76 | K B§F1 (1)  16:01.81 fREHL—EF (2) 16:04.84 |[KE BB (2 16:13.17 |58 —& (D 16:19.57 %A HE () 16:2.05 [Pl & (2) 16:31.06
5 EEl EX ] EER B RiFR B REE E:]
% 110mH 0 |BF BEX D 15.23 |mieaieE (1) 1551 [IAF =8 @ 16.49 [ EiE (2) 16.62 [ @B% 2 17.39 (&8 s (2 19.19
BEER -1.0 |®iFA -1.0 |REH -1.0 |EEEE -1.0 |EEE -1.0 I#EHRE -1.0
2E 400mH NECIEES 56.80 I i (2) 58.13 |BUIEARS (2) 5817 [WeE R (D) 59.18 |53 && (1) 59.35 |&¥F #&% 59.52 |Em Imm (1) 59.53 | %® BK (@  1:01.4]
R TR EEE RER EER EEL L) RiFR
wE| 3000msc | 1 |RWL B () 10:08.49 [iEE fAE (1) 10:17.96 |{RE MM (@ 10:21.52 [lRA 9 () 10:32.15 |HO A (2) 10:47.54 [$ifm A&ME (2) 10:54.43 %% A® (1) 10:57.03 |HE@ #ik (2 10:58.13
v EER EER EES: ] AT BT ey EESS
wE|  5000mw | 14 |[REBAE ) 253210 A & ) 26:26.27 BT 2l (2) 26:31.86 [LTHAES () 27:47.15 B3 EE (2) 28'14.83 [ ok (1) 28:24.27 B 8 () 28:28.03 |[REL—E (1) 31:07.44
HEE el =5 REE NITERE REE EEL NEE
EFEE2 307 |REE 4358 | IRk 376 |=BHE 4378 B 2391 NERE 4T |RER W18 |[EB S 44,19
Bl fE Q) BR FE (2 BEF B Q HETEARR (2) 28 FA (1) $ L Q RiE &L (1) EH OEE Q)
BA|  4x100m |31| HE & Q wE gL (1) N O MERE (1) B H— @ {EBHEAE (2) BEESS (1) TH & ()
H ZE EX (1) M RE () Bl BE (1) B #BRE Q) HH =k FE E Q) BH R O B B Q
Er ;B ) 5 i ) A3tz (1) 2l HHFE ) EE @& © B B Q) ZE =9 =1 B S0
EF T 3:23.74 | R 3:26.87 [mESS 3:27.31 [k 3:2931 |[REHERE 3:33.07 |=BH 3:35.31 |RIETRE 3:36.30 | FFHE 3:36.45
X% DK (2 BH R BE B Q 5 B Q) Al HE Q) HETEARR (2) &% @81 () %% AE (1)
48| 4x400m | 31| @mE = Q) WREEER (1) 1 ) e O] LHEEEE Q) mipeaie s (1) MEEREL (2) HO #WA @
Bl fE Q) BB HE (1) TA —# (1) B KT Q) BI FA (2 g EE () “E BF mE 'L ()
HE__E Q) it S M) BHHRE () ME M @ dk —BE (2 2l HE AfE —#8 (1) FE EE Q)
ua| % ® MR 05 [BiR ER @) g7 s 2 (D g4 [ mE ) 81 |FIE - % #e @ (ngl |BE £ (1) mi5 [MiEmREE () mi0 [l —& (2) m70
R HEE ) REE mE 5 EEE HEE
7 (g E s B N 3m90 |#REL Em (D) 70 [ HE @ 3n20
5 BEBE YN =N
ua| % 6B 6 |FB EE O 33 |BE B 2 627 (A3 BmE (1) 6n26 AT =W (2 tnld @@ Bk @ 6m05 [T mA () no3 1A & @ 6n0l [EH EE () 5m92
1 = EEL +1.0 |FEY: +0.5 |k 0.1 |FiFF 0.4 |ERE A1 | REERE +0.0 |Bfps +1.6 |FE +0.4
28 - g B o5 |HELEAER (1) 4n20 [B#% Xt @ 12n79 |1®H e @ im76 B A (1) 12n68 AR #E @ 12m64 | EAE—EF (1) 12m52 A AW () 2na2 [E £ (D 12m21
I — BEER +2.1 |NIFEILRE +1.4 BRI +0.8 |FiFFE +0.4 |FAES] -4 |[BAER +1.7 | ek +0.7 |F8¥ +0.9
uE| @ h & o B8 HE M) 2m51 |BH D 2 1mb2 [F L AF (1 10m05 [12E %M () OmdT [ wowoes o0 @ 921 |iEA JEm (1) &n97 | EEA (1) 8n91 | KIEFAR (2 &n04
EES: THEE BT FRAE EEH% 5 AL =4
Llsal B om s 1 |BE BA amig [FE AF () 30mo7 [FE HWR () 30mds |F Az (1) 214 Ik #E @) 27m60 | ZPFEAER (1) 2%n31 |BF & (@) 28m96 IO LI (2) 23m09
RFR BT HEE EESS R EESS BT EER
P ; [BF =R @ 3in92 [FH HE (1) 2592 |[ERmAE (1) 2umio (A BA 1Tnd5 |4 B® (1) 2l |&@ HA @ TIn93 [FI&8 &3 (1) 10m34
S BT HEY: EES: R EBHRE RFR EES
ua| oy @ 13 |BE BE @ 5m20 [£F @A 46mb2 | K& 3 (1) 43m33 | A% BAL (2 39m33 |RE &Z ) 36n73 [P A (1) 363 BRI (1) 3627 | &M@ A (2 35m54
£ TR =7 FEY e Ry R )
2 |2 N HE A Q 4560 |LAIEARE (1) 4226 |IE EM 2 ATEEER R () 4129 [E@ AE 3755 [IRE RS (1) 3410 (A &Y 3350 |ILK HE (2 3335
= |28 15 | TR HEE RGR EES: RGR NN R
(248 100m-E #2 Bk -Fa 3, 1% -400m 11.39/+0. 6-6m23/-0. 1-6m92-52. 65 11.79/+0. 6-5m78/-0. 1-Tm45-52. 80 11.85/+0. 6-5m98/+0. 3-Tm79-55. 94 11.61/+0. 6-5m65/+0. 1-Tm89-53. 32 11.80/+1. 6-5m29/+1. 2-6m55-54. 29 11.84/+0. 6-5m20/+0. 1-Tm28-55. 81 11.76/+0. 6-5m72/+1. 0-5m55-56. 50 12.61/+1. 6-4m86/+0. 2-8m96-57. 84
110mH-4> U #§-3 & Bk-1500m 15.42/+0. 8-33m82-1m65-5:12. 34 17.20/+0. 8-32m54-1m45-4:40. 30 17.45/+0. 8-29m74-1m86-5:21. 55 16. 69/+0. 8-24mB0-1m45-4:49. 36 19. 32/+0. 8-30m10-1m40-4:37. 93 22.88/+0. 4-35m58-1m50-5:12. 39 20. 30/+0. 4-24m08-1m45-5:16. 91 20. 86/+0. 8-31m22-1m50-5:03. 32
i REfEm hiER 86 |REH 9% [BEs: 92 =5 b= =5 19 5% [AER AR (B 1w [REE 3B
B FS v /A B 505 |HIE 25 |RES 385 |EHIL 3 [mER 355 | EIEA 3B £ 04 [EESE 2558
SA—LFER __ |mEs: 50 iR 295 |25 25 |REFH 25 [HEE NERER 3 16,5/ |7 134 [FIE B/ 134
B e 34 NGR - KR #FFRER I ERRBEPHAETER XY RESAHERMIINE LR 5 B s % M
SmAH 410A EEREHRBR ®iE: BBETHERRS BOBE £ B K
HRRKREEF OISR by BHE: M & +
B ORBHE: B K F B
BTE BHE: N =




166 RAMEREEFRY 1 = 7EERENBEFERS

202359A23R () - 248 (H)

XFER—EX (k&a—F : 23281009) NA aLBELERE GREHBa— K : 282060)
B 4 | ¢ 14 241 34 4t 51 61z 74 8z
28 100m 70 |ME RAE @ 12.38 [AX =X 2 12.63 Bk E&E 12.64 [12F %k .68 =x () 1292 [F# #x @ 12.93 8@ ZZ 13.03 [EXEHAE (1) 13.10
E A +0.3 |EH +0.3 |BfE +0.3 |BBNE +0.3 |EH +0.3 |BAE +0.3 |AER +0.3 |IBE +0.3
248 200m NEED 26.22 |FE HE@E @ 26.48 |thig  EEFE (1) 26.57 |## R Q) 26.73 [F# #xE @ 2113 [A®H & 2 21.17 |gih i ) 27.26
BIERE +1.4 |EHE +1.4 |HEH +1.4 |BETRE +1.4 |BfEE +1.4 |EHE +1.4 |HFREFA +1.4
238 400m 4 |[ETEEMB ) 1:00.66 [fRE —F (2  1:01.40 kB ®i& (1) 10147 [AH # 2 0L [MAOLE (2  1:03.86 WL W4 (2 1:0393[HEK ®EE (D) 1:0477
~ AER Bt EE EE BE iR e
28 800m bo |BEMERI () 2:18.75 KB B () 2:19.08 |#0 &7 () 2:21.24 [BAXET () 22439 [BE Fx (1) 2:29.16 jR3#F BE (1) 2:29.67 Wi @& (@)  2:30.02 | &HHI A () 2:02.00
E]: EE B FHE R B BE TIET EEE
28 1500m o [BE 8 (1) 4:46.38 [BH BE (1) 457.03 [l @A (2 5:00.12[LH % ) 5:06.23 [AXET () 5:00.73 [E@ H&x () 5:14.42 [#@ 7@ (1) 516,47 Ll %% ()  5:18.59
B FEEE Em FIFH EERWL B i B4R
= |2g 3000m 1g BB #fE () 10:15.05 |[RE & (1) 10:26.36 sl %A (@ 10:33.81 [ 7e@ (1) 11:22.70 [BECO& (1) 11:31.96 (@A #iF (1) 11:36.50 [@l& #&FE () 11:41.20 [&& Tx () 11:56.70
K B FEEE Em ik = R FEE BEE ik
238 100mH MECEE 9 15.02 [k# & () 15.29 [iH4 @& () 16.23 [AF =®E @ 16.94 |5 #E () 17.35 @@ #@E (1) 18.69 [AH EBEzZ (1) 19.70
E A +1.5 |HEE +1.5 |BIBANE +1.5 | EE)IIKH +1.5 |JIIFEdLRE +1.5 |[BlE/NE +1.5 |JIIFEERE +1.5
248 200mH o BB ER @ 10429 [FEEME 2 1:07.21 [kFLaE @) 10757 UZ () 1:08.55 [AA & () 1:08.63 [mE =g () 1:11.56 (L XfE 2  1:12.11
[E]: FEEE EisTEE EE HEE wEdt 4R
v EAREM (2) 33:13.58 |[AWL EHE (1) 38:02.79
238 5000mW 6 Fme i e
B 49.44 [RIEWE 49.93 | 50.19 |mRst 50.58 [Ef= 51.29 A== 51.77 |t 52.29 |REJIKH 52.52
FH EH 2 HFEYAH 2 WHENE (2) = Wiz (2) FEx EE 2 MEHLE (1) g xE 2 ® B (D
238 4x100m 28| @B %A O BR 'K (1) g ZEIE (1) RE RE (2 ik EK (1) HEXME (2 a5 mEm () AT RE 2
i Yy @ nogmEE (1) Kk & (1) #EA 3E 2) mAR  fis 2 RE ERE 2 EE XP (2) BA EF 2
4 & g% (1) WT X (2) #h BwE D A% BEx (2 F#H #Mx @ A £x (2) PE —% 2 e BH @)
EE 4:06.04 B 4:11.66 | =15A 4:13.20 |REE 4:16.80 1B 4:20.09 | 4:20.73 |RETRE 4:21.82 |BE®R 4:26.03
WH XA (2 BHEBRERE (2) B\ EF 2 mA  fis (2 mE BE 2 2 Wiz (2) KEFEWAE (2) HEEME (2)
248 4x400m 24 | B Yz @ A R () 7E =EF O mRk EK (1) WADLE (2) A% BEx 2 fRE R (2) 28 ME (2)
HE = (2 =B tiE (1) =k HE () HO &1 O) e Bx ) RE RE (2 BX Ei 2) HEHEZDH (1)
BREEEI (1) g FEIE (D & HIE (2) FH# #xE 2 ¥ BE ) #A 3E (2) =5 BE (2 HEHITH ()
28 £ B % MR 57 [#E =8 2 ms4 [IRA  Fis 2) 51 [BR &F (1) md5 g A2rr (1) md0 [3RE  E (2 m40 |fE/R =& (1) n40 |58X& = (2 n35
HHEE Lcids) HEE HEE BERE EE iR s TEE
7 238 [ 6 LM BE O m35 [EA A (1) om0 [fERRER (1) om00 |FiE : & #EE (1) 2m00
= Eis/INE EERE i/ EBRE
ape + g B a5 |EH RH @ 5mi4 R BE (2 499 £k ‘X (1) 493 [AFREPE (2) 479 [BRE EE (2 475 |[FE BB (2) 469 [EEMEE 2 65 | KF FZ () 4m49
)i=1:Eld +0.8 |JITEFZE +0.6 |EH +2.2 |HEE +0.0 |BiE/NEA +1.8 |EHE +1.7 | 0.1 |BFEE +1.2
238 = B 0 |SEESF ) iomi6 [BR &£F (1) 10m06 | A4 &= (1) ami3 A = Q) 68 |7 Em@m (1) 9m49 |Z)I k(2 Imd3 [&E A (1) 9m23
| =4 -1.4 |HEE +0.5 |BFEE +3.5 |#%I +1.0 |[BIBRE -1.1 | W 1.1 |EER +0.4
240 oA B s B £ M i0om54 |[AB XH (2 om74 lUTF =H (1) omi2 [#F  Ftk (1) 8m57 | KaT BE ) 8m38 [ILA KE 2 807 &% ®A () m82 |ZL EE () Tm69
&l Em Em R B FiFt L EEE
[ 93m Hom e 15 |UF ZE D 3om77 A EW Q) 2Tm83 [ILA kE @) 26m23 |BEE E® (1) 265 [# EHE (1) 238 FESEE 24n2T [AlHE 2) 23mi0 [ K& EZ Q) 21m27
]z Bl FiFt BEE B A =ty REERE B
2@ NoT—iE ;7 "R FE @ 25m52 |fER  EE (2) 20m4T [AHVHBF Q) 18nd2 [ E: (1) 197 |ME »F 2 14m57 |BAT &= (1) 14n02 |5 =8 @ 11m19
R iR iR RETHRE B AR BERE RERE iR
24| oY B 2 |F% £ M 374 [WASTE (2) 3¥mb4 [ FE @) 30m64 =M HIE (1) 30mi8 & HF0 (2) 0mi7 @ HFR Q) 2Im71 [#A  EFK (1) 26m90 [E<AZEH (1) 26m43
B BE [iikciass FIEF BERE #a B s /N
= | 238 [P =M t@ () 3175 [ '&F Q) 3750 [fAE = (2) 3008 |l #ak () 2907 [XH= &5 (1) 2284
HE | £OF ¢ TR it i/ it B3
ﬁk 2R 100mH-3E & Bk -Ha 0 1% -200m 19. 88/+0. 2-1m30-6m94-27. 22/+1. 6 16. 63/+0. 2-1m35-5m56-28. 06/+1. 6 19. 15/+0. 2-1m30-6m12-28. 43/+1. 6 17. 83/+0. 2-1m35-6m09-28. 54/+1. 6 19. 82/+0. 2-1m20-5m48-28. 63/+1. 6
FENEBE- Y $%-800m 4m65/+0. 0-22m37-2:35. 15 4m51/+1. 5-11m72-2:36. 51 4m43/+0. 3-22m58-2:37. 72 4m08/-0. 6-19m30-2:49. 06 3m55/+1. 1-14m02-2:51. 72
v YT EH 13m [hiek 59% [EBNE 57. 58 |mEH 8E [Efme VR R et 3A [le’/ANE 21648
B FSvIRER B 120/ (A= 405 [hER 325 B 0A [EBNE 2655 |EISTRE 165 |Ei5H 135 [T 135
J4—ILFEA EH 538 |HRT 3ba [EBRE 3.8 [HEK 195 [Eug/A 18.548 |[HfiE 145 |BAEE 125 |FF4 9=
S[EKR
[BRE] 35#% Xz KR JAM - BE R IH: RERESERHKEER # BoR H ¥ K
[BmAE| 266 i £Y 21.0°C RAER 0.2m | 63% EEEEBRRS 2 HBE Fom M F B
9/23(%) EFE Eh 29.5°C E0.Tm 47% TE . RERSHERMS LR by) BHE: N K B +
it Bh 21.0%C  Tim | 4Tk ®iE: BBHWHEESS B BBUHE: B K F =
o0 Bh 28.5°C JE®E_ 0.2m | 50% BTE BUE: M =
9/24(8) EFE Eh 30.0°C HALE 1.8m 44%
ETE = 30.5°C ® i.0m | 41%




